221-652-1 LONG CAL STAND TOOL ASSEMBLY
REFER TO NEXT SHEET FOR PARTS DESCRIPTION LISTING




Form 4-67, 3-06a
Supersedes Form 4-67, 5-02

PARTS DESCRIPTION LISTING Sheet 8 of 9

Index P -

No. art Number Description Qty.
1 221-652-1 TOOL, LONG CALIBRATION STAND (Consisting Of) 1
OR 221-655-1 TOOL, LONG CALIBRATION CERT STAND (Consisting Of:)) 1
2 72-3311 LONG CALIBRATION STAND BASE ASSEMBLY (Consisting Of) 2
3 72-330-+-002 BASE ASSEMBLY, LONG CALIBRATION PAINTED 1
4 T60-82-2 KNOB 3
5 76-13-2 NUT, HEX 1/4-20 3
6 134-108-2 STUD 10-32 x 3/8 PUSH IN 2
7 46-476-2 SPACER, RETAINER STOP 2
8 46-474-2 SPACER, LONG CALIBRATION STAND 2
9 75-41-2 HEX HEAD CAP SCREW 1/4-20 x .38 2
10 41127-002 LONG CALIBRATION RETAINER 2
1 16-689-1 TUBE ASSEMBLY, CALIBRATION 1
12 34-161-3 KNOB M8 STUD 12

HUNTER

Engineering Company

11250 HUNTER DRIVE BRIDGETON, MO 63044

PPP-Paint Code Required
A/R-As Required
REF-Reference




